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(CHM-A)
The correct IUPAC name of the compound given below is:
g g
(A)  2-Methyl-4- pentyn- 2- ol (B)  4-Methyl-1- pentyn- 4- ol
(C)  4-Hydroxy- 4- methyl- 1- pentyne (D)  4-Hydroxy-4-dimethyl-1-butyne

The increasing order of following carbanionsare (least stable first)

CH3  (CH3)CH - CH2NO, (CH3)sC

| I 1] v
(A) UI<OI<IV<I (B) IkNI<IV<I
(C) HII<I<I<IV (D) Iv<I<I<I
How many structural isomers are possible for pentane?
(A) Two (B)  Five (C)  Three (D)_ Four
Which of the following alkene will give only acetone and acetaldehyde on ozonolysis?
(A) 2-Methyl-2-butene (B)  2-Methyl-1-butene
(©) 2-Pentene (D)  3-Pentene
The best reagent for conversion of 2-butyne to trans-2 butene is
(A) H;/Raney Ni (B) H,/PtO;
(C)  H,/Lindler catalyst (D) Li/Lig.NH;
The major product of reaction of benzene with propene in presence of conc. H;SOj4 is
(A) n- Propylbenzene (B) Ethyl benzene
(C) Iso- Propyl benzene (D) Styrene

Which of the following compound is least reactive towards nucleophilic substitution
Sn1 or Sn2 mechanism?

(A) CH;CH,Br (B) CH,=CHBr

(C)  (CH;)CBr (D)  (CH;),CHBr

Hydroboration oxidation of 1-butene give

(A)  1-Butanol (B) Butanone

(C)  2-Butanol (D) Butanal

Which of the following ether cannot be prepared by Williamson’s ether synthesis?
(A)  Methoxy benzene zcid '~ (B) Diethyl ether

(C)  iso-Propyl methyl ether (D)  Di-tert-butyl ether

In reaction of phenol with CHCl; and KOH at 70°C the attacking species on the benzene
ring is:

a) Cda, (B) :CCl © CHC, (D) COClL

Which of the following compound will not respond to Cannizzaro's reaction?
(A) Benzaldehyde (B)  Acetaldchyde
(C)  Formaldehyde (D)  Trimethyl acetaldehyde



12. Which of the following carbonyl compound will respond to iodoform test?

(A) Benzaldehyde (B)  Acetophenone

(C)  Formaldehyde (D)  Trimethyl acetaldehyde
13. Benzoic acid can be prepared by the hydrolysis of

(A)  Benzyl chloride (B)  Benzyl chlorite

(C)  Benzonitrile (D)  Chlorobenzene
14. Primary, secondary and tertiary amine can be distinguished by use of

(A)  Baeyer's reagent (B)  Fehling Solution

(C)  Hinsberg reagent (D)  Tollen’s reagent
15. Which one of the following is the weakest base?

(A)  Methyl amine (B)  Trimethyl amine

(C)  Aniline (D)  Dimethyl amine

16. Iodobenzene (C¢H;sI) can be synthesized in the laboratory by
(A)  Reaction of bromobenzene with sodium iodide in dry acetone.
(B)  Reaction of phenol with hydroiodic acid.
(C)  Direct iodination of benzene.
(D) Reaction of benzenediazonium chloride with potassium iodide.

17. Which carbohydrate is essential constitution no plant cell

(A)  Cellulose (B)  Starch (C)  Glucosee (D) Maltose
18. The bond which is responsible for the secondary structure of protein is

(A)  Tonic bond (B)  Co-ordinate bond

(C)  Covalent bond (D)  Hydrogen bond
19. Natural rubber is a polymer of

(A)  Ethylene (B)  Styrene (C)  Isoprene (D)  Vinyl chloride
20. Oils and fats are esters formed by the reaction of glycerol with

(A)  Amino acids (B)  Sulphonic acids

(C)  Aromatic acids (D)  Long chain aliphatic acids

21. Which of the following has least number of atoms?
(A) lgofAg (B) 1gofNa (C) 1lgofK (D) 1gofBn

22. Calculate the normality of 0.5 M H3POj5 acid.
(A) 15N (B) 10N (C) 41N (D) 13.66

23. Calculate the maximum number of emission lines when the excited electron of hydrogen
atom falls from n=6 to ground state.

(A) 21 B) 18 © 15 D) 13

24. Which of the following is isotone of*§0?

(4) g0 B) & (©) N D) 30
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. Which of the following is most acidic?

(A) PzOs (B) A5203 (C) Sb203 _ (D) Bi203
. Which of following has maximum bond length?
(A) ClOs (B) SO (C) PO (D) Si04"
. Out of 05, NO, NO", and 0,>, which is/are paramagnetic species?
A 0, (B) 0,andNO (C) NO (D) OYand NO*
. Predict the oxidizing agent in the titration of H,0, and KMnOy in the presence of HSOs,
(A) KMD04 (B) H202
(C) HaSO4 (D)  Both H,SO4 and H,0,
. Choose the correct order of stability of following.
(A) Cs0,>Rb0,>K 0O, (B) Rb0O,>Cs0,>K 0O,
(C)  KO2>Rb0O>Cs0; (D) CsO>KO2>Rb0O,

. What is number of moles of OH ions formed when one mole sodium carbonate is
hydrolyzed?

A) 1 B 2 c 3 D) 4
. Which of the following is not a protonic acid?

(A) H;BO; (B)  H3POq4 (C)  HaSO4 (D)  H;3PO;
. Which of the following does not exist?

(A)  GeCl¢” (B)  SiClg" (© CC&F (D)  SnClg”
. Which of the following is a metaphosphoric acid?

(A)  HsP30 (B)  Hs;PO; (C)  HoP20y (D)  H3POq4
. Which of the following is a chalcogen?

(A) Na (B) Ba (C) Se (D) Si
. What is the shape of XeO3?

(A)  T-shaped (B)  Triangular planar

(C) Bent (D)  Trigonal pyramidal

. Which of the following ore is concentrated by electromagnetic separation?
(A)  Bauxite (B) Cassiterite  (C) Zincblende (D) Cinnabar

. Which of the following exists as a pair of enantiomers?
(A)  [Co(NH3)sCI]CL, (B)  trans-[Co(en),Cl]"
(©)  [Co(NH;)(ChL]" (D) [Cr(en)s]”

. Which of the following product is formed when silver chloride is dissolved in
methylamine?

(A)  Ag(OH) (B)  [Ag(CH3NH2)|Cl
(C©) AgOH (D)  [AgH0)]"

€)



39. Which of the following has magnetic moment of 4.89 BM?

(A) Cr* (B) Mn* (C) Co* (D) NiZ
40. Which of the following group elements are generally used to make super-conductors?
(A)  p-block elements (B)  d-block elements
(C)  Actinides (D) Lanthanides
41. How much of NaOH is required to neutralise 1500 cm® of 0.1 N HCI? (Na = 23)
(A) 40g (B) 4g (C) ¢6¢g (D) 60¢g
42. If n = 6, the correct sequence of filling of electrons will be
(A)  ns>np> (n-1)d> (n-2) f (B) ns>m-2)f> (n-1)d >np
(C)  ns> (n-1)d > (n-2) f>np (D) ns=> n-2)f>np> (n-1)d

43. The correct order of decreasing second ionization enthalpy of Ti (22), V (23), Cr (24) and
Mn (25) is

(A)  Mn>Cr>Ti>V (B) Ti>V>Cr>Mn
(C)  Cr>Mn>V>Ti (D) V>Mn>Cr>Ti

44. If two gases X and Y have their molecules travelling at the average velocities in the ratio
of 3:1, the ratio of their molecular masses Mx/My will be
A 19 ) 5 <)y 3 (D) 173

45. If volume of gas is very large, then the second virial coefficient B in virial equation is
(A) b+(@RT) (B) b-(a/RT) (C) b+ (@RTV) (D) b-(@RTV)

46. Slope of the plot between PV and P at constant temperature is

(A)  Zero (B) 1 C) Y% M) 1A2
47. Enthalpy of the reaction is given as

(A) H=U+pV (B) H=U-pV

(@) AH = AU + pAV (D) AH =AU -pAV

48. If AG° for NHj (g) is -16.4 kJ mol™, then AG® for the reaction: Na(g) + 3Ha(g) =2
NH;(g) is

(A)  32.8 kimol™ (B)  16.4 kJmol
(C) -16.4 kimol™ (D)  -32.8 kimol

49. For the reaction C3Hg (g) + 5 Ox(g) > 3CO; (g) + 4H,0 (1) at constant temperature, AH —
AU is
(A) +RT (B) -3RT (C) +3RT (D) -RT

50. The number of hydroxyl ions in 100 ml of a solution having pH 10 is
A)  1x10* (B) 3.012x10* (C) 6.02x10"® (D) 6.02x10"

(4)



51. In which of the following acid-base titration, pH is greater than 8 at the equivalence
point?

(A) Acetic acid versus ammonia

(B) Acetic acid versus sodium hydroxide

(C) Hydrochloric acid versus ammonia

(D) Hydrochloric acid versus sodium hydroxide

52. Which defect brings in decrease in density of the crystal?

(A)  Schottky (B)  Frenkel (C)  F-centre (D) Interstitial
53. The coordination number of Ca*" ion in fluorite crystal is

Ay 2 ®B) 8 C) 6 (D) 4
54. Lowering in vapour pressure is the highest for

(A) 0.2 murea (B) 0.1 m glucose

(©) 0.1 m MgSO4 (D) 0.1 mBaCl

55. A 0.5 molal aqueous solution of a weak acid (HX) is 20% ionized. The lowering of
freezing point of this solution is: (Given K= 1.86 K/m for water)
(A) 056K (B) -0.56K (C) 112K @y -L1I2K

56. The electrode potential of an electrode dipped in 0.1 M solution of its own ions is: (Given
standard reduction potential = -2.36 V)

(A) 241V (B) +241V (C) -482V (D)  None of these

57. The cell Zn/Zn>" (1 M) // Cu**/Cu (1 M Eccell = 1. 10 V was allowed to be completely
discharged at 298 K. The ratio of [Zn ]f[C *] at this stage is:

(A) 9.65x10* (B) antilog(24.08) (C) 37.3 @y 1

58. In a first order reaction, the a/(a-x) was found to be 8 after 10 minute. The rate constant is:
(A) (2.303x3log2)/10 (B)  (2.303x2log3)/10
(C)  10x2.303x2log3 (D)  10x 2.303 x 3log2

59. In a reaction 2A+B—Product, when concentration of B alone was doubled, the half-life

did not change. When the concentration of A alone was doubled, the rate increases by
two times. The unit of rate constant of the reaction is:

A) s B) Lmol's’ (€) molL's' (D) no units

60. On adding 1 ml solution of 10% NaCl to 10 m] gold solution in the presence of 0.25 mg
of starch, the coagulation is just prevented. Starch has gold number equal to:
(A) 2.5 (B) 025 g 250 (D) 0.025
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